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25 2~5kg 7cm 16~26cm 88,000
2.5% 4~8kg 7cm 20~30cm 88,000¥
3% 4~8kg 8.5cm 20~30cm 88,000¢
4% 8~12kg 10cm 24~38cm 110,000¢
5% 10~25kg 12cm 30~46cm 110,000¥
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1= 1~3kg 6Ccm 12~22cm
23 2~5kg 7cm 14~26cm
3% 4~8kg 8cm 18~30cm

45 6~12kg 10cm 22~36cm

5@ 8~20kg 12cm 26~42cm
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10cm ~30cm 176,000

15cm ~36cm 176,000

18cm ~44cm 176,000

20cm ~52cm 198,000<

23cm ~62cm 198,000
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(k=3 1~3kg 5cm bcm 22,000¢
235 2~5kg 5.5cm 7cm 22,0004
3% 4~8kg 6cm 8cm 22,0009
43 6~12kg 7cm 9cm 33,000¢
5% 8~16kg 8cm 10cm 33,000¥
62  15~30kg 10cm 14cm 44,0009
7% 20~40kg 13cm 18cm 55,000¢
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